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HEXH RELAT RBHELHN SaknEmm = =R B "E
7 RELATED S %
(24 R) BT#H R E&Eﬁ HL
AHHEE 720 = 1,080 360 1.50 1,380 | A/h |BZ4EF (BR1T x 1.5)
hEE 360 - 280 A 80 0.78 280 | [/h
INHEE 230 = 180 A 50 0.78 180 | A/h
HEREE 360 - 160 | A 200 0.44 160 | MH/h
M= 360 = 280 A 80 0.78 280 | M/h
BEE 230 - 280 50 1.22 280 | [/h
THE 360 = 180 | A 180 0.50 180 | A/h
ABEEERANH FEAHDIE = 0 0| H/h
HELARE
RELZGHERMHY)
HEXSD RS EHR 2B E LR s = Bif e
7 RELATED LB
(24 R) BT#H R Emi’i
KREE MEER AR 670 - 280 | A 390 0.42 280 | [/h
AEEHEAH 310 - 0| A310 0.00 0|M/h
HEr it X /N RAE
RELZGRERRHY)
HEXS ZBILEHR SR B = = 2 BAfL e
7 RELATED S
(24 RD) BT® jame  wew
HR—IL MeERfE AR 380 = 280 | A 100 0.74 280 | [/h
ABEEERANH 310 - 0| A310 0.00 0|M/h
ERE MeERfE AR 380 = 180 | A 200 0.47 180 | [/h
ABEEERANH 100 - 0| A 100 0.00 0|M/h
FHRE 330 - 100 | A 230 0.30 100 | M/h
s 620 - 160 | A 460 0.26 160 | M/h
HEIL XN REE
RELZGHERMHY)
HEXSD RS EHR 2B E LR s = Bif e
7 RELATED LB
(24 R) BT#H R Emi’i
REE ek AN 290 = 100 | A 190 0.34 100 | F/h
AEEHEAN 100 - 0| A 100 0.00 0|M/h
EoE MEER AR 670 - 280 | A 390 0.42 280 | [/h
AEEHEAH 310 - 0| A310 0.00 0|M/h
s 620 - 160 | A 460 0.26 160 | M/h
HE XN REE
RELZGHERMHY)
HEXSD RS EHR 2B E LR s = Bif e
2 RELATED L3
(24 R) BT#H R Emi’i
HEERIEE MeERfE AR 270 - 180 A 90 0.67 180 | M/h
AEEHEAN 100 - 0| A 100 0.00 0|M/h
KEE MEER{FE FAF 670 - 280 | A 390 0.42 280 | [/h
AEEHEAN 310 - 0| A310 0.00 0|M/h
s 620 - 160 | A 460 0.26 160 | F/h
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AESE 720 = 1,080 360 1.50 1,380 | A/h |BZ4EF (BR1T x 1.5)
FREE 360 - 280 A 80 0.78 280 | [/h
INSEBE 230 = 180 A 50 0.78 180 | A/h
EEE 360 - 160 | A 200 0.44 160 | M/h
AREEERH EAMDIE = 0 0|M/h
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RELZGRERNHY)
HEXH BB BN SRS ENM = = BAfL &%
> RELAED B
(%) BT® jame  wew
Z HER—IL 720 - 1,080 360 1.50 1,380 | A/h |BZ4EF (BR1T x 1.5)
FEE 360 - 280 A 80 0.78 280 | [/h
M= 230 = 180 A 50 0.78 180 | A/h
HEREE 360 - 160 | A 200 0.44 160 | M/h
AEEERH FEAMDIE = 0 0|M/h
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AR EMIRERE 52— A B o] D E F
RELZGERERNHY)
HEXS BB BN SRS ENM = = BAfL &%
> RELATEOD B
(%) BT® jame  wew
Z HER—IL 720 - 1,080 360 1.50 1,380 | A/h |BZ4EF (BR1T x 1.5)
KREE 360 - 280 A 80 0.78 280 | [/h
INSEBE 230 = 180 A 50 0.78 180 | A/h
m=E 360 - 280 A 80 0.78 280 | [/h
HEEEE 360 - 160 | A 200 0.44 160 | [/h
F=Xa—hk 100 170 350 250 350 350 | M/h |EREE(f (700M) D H4E
REEERH EAMDIE = 0 0|M/h
X RXEMRERELV2- A B o] D E F
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HEX5 RS EHR 2B E LR s = Bif e
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ZEHMER—IL 550 910 1,080 530 1.96 1,380 | A/h |BFED IBTHIEER D FT & (<H—
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BEWEE 430 - 280 | A 150 0.65 280 | M/h
HRBEFHEE 430 - 280 | A 150 0.65 280 | A/h
MEFEE 490 - 180 | A 310 0.37 180 | M/h
Z B#k—IL 390 750 1,080 690 2717 1,380 | A/h |EfED BT EER D FT L (“H—
AEREERAR HHE=E 200 - 0| A 200 0.00 0 |M/h

Z Brk—IL 1,050 - 0| A 1,050 0.00 0| M/h
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REL#Z(BEENSHY)

HERS ﬁ;(@;%%%ﬂf’aﬁ &%T Egaﬁﬁ 12‘;% é’;ﬁ ‘E%Zz kg%; Bifs &%
N—=2TF 290 = 280 A 10 0.97 280 | A/h
RE 470 - 180 | A 290 0.38 180 | M/h
EEEEES 660 = 160 | A 500 0.24 160 | M/h
RERE 160 = 100 A 60 0.63 100 | M/h
AEEERR ExE 200 - 0| A 200 0.00 0|M/h
RERE 100 - 0| A100 0.00 0|HM/h
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SEE 500 = 280 | A 220 0.56 280 | A/h
EERHEE 500 - 280 | A 220 0.56 280 | M/h
RIS EE 500 = 280 | A 220 0.56 280 | A/h
BEMEMRE 120 - 100 A 20 0.83 100 | M/h
fRRMARE 120 = 100 A 20 0.83 100 | [/h
EEREREE 380 - 180 | A 200 0.47 180 | F/h
BEFEREH L I— 120 = 100 A 20 0.83 100 | M/h
£ BHIR—IL 1,800 - 1,080 | A 720 0.60 1,380 | A/h |BFED IBTHIEER D FTH & (<H—
MBEEERR 200 = 0| A 200 0.00 0| M/h
(4) Zoith
HARE#MRIZS2a =T 42— A B c D E F

REL#EGHRERINHY)
HERH ﬁi(@;‘i%ﬁ;ﬁﬁ ﬁs@éi%mﬁ 12?;% gLéﬁﬁ ME; %ié Bif "5
RESE 720 - 1,080 360 1.50 1,380 | F/h | ZEREF (BT X 1.5)
FREBE 360 = 280 A 80 0.78 280 | A/h
INSRE 230 - 180 A 50 0.78 180 | F/h
EEE 360 = 160 | A 200 0.44 160 | [/h
AEREEAR ERAH DI - 0 0 |M/n
AR 0 X 2 R A
REL%Z HERMHY)
HERS ﬁ;(@;%%%ﬂf’aﬁ &%T Egaﬁﬁ 12‘;% é’;ﬁ ‘E%Zz kg%; Bifs &%
SE 310 = 280 A 30 0.90 280 | A/h
FEE 100 - 180 80 1.80 180 | MA/h
KREE 100 = 100 0 1.00 100 | [/h
HIEHARE 100 - 160 60 1.60 160 | M/h
MEEE AR AR R - 0 0|A/h
ELRBEUEE2—(EREr5—) A B (o] D E F
REL#E GHRERTHY)
HERH ﬁi(@z‘i%ﬁ;%ﬁ ﬁi@ﬁ‘iﬁgmﬁ 12?;% gLéﬁﬁ ME; %ié Bif "5
INR—)L 1,100 - 1,080 A 20 0.98 1,380 | A/h |BFED IBTHIEER D FT & (<H—
HHEE 1,100 - 1,080 A 20 0.98 1,380 | A/h |RIFED BT MEER O F RS I1TH—
n=E 460 - 280 | A 180 0.61 280 [ M/h
RlEE 360 - 280 A 80 0.78 280 | M/h
REEEE 360 - 160 | A 200 0.44 160 | F/h
HE 360 = 180 | A 180 0.50 180 | M/h
HEEE 360 - 180 | A 180 0.50 180 | F/h
IRERBHERE 360 - 180 | A 180 0.50 180 | [/h
AEREERAR ERAH DI - 0 0 |M/n
BrHARSEE I A B C D E F
RELZ(HZEERHY) [5=]
HERS RELAT ﬁ;(@;%%%ﬂf’aﬁ &%Tﬁéaﬁaﬁ éﬁéﬁ“*‘éﬁ%ﬁ Eﬂ’;’iﬁf*ﬂ B fT &%
EEE 0 50 100 100 100 | [/h
BE=E2 0 90 180 180 180 | M/h
R—IL 0 540 1,080 1,080 1,380 | F/h | ZE#EF] (BR1T X 1.5)
HEEE 0 140 280 280 280 [ M/h
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TREA 200 = 270 70 1.35 270 | A/h

RREB 200 - 270 70 1.35 270 | A/h

RiREC 200 = 270 70 1.35 270 | A/h

RRED 200 - 270 70 1.35 270 | A/h

SEEA 200 = 270 70 1.35 270 | A/h

KEEB 200 = 270 70 1.35 270 | A/h

= 420 = 150 | A 270 0.36 150 | M/h

BEE 630 = 420 | A 210 0.67 420 [ M/h

REEEE 420 = 240 | A 180 0.57 240 | A/h

BEHE 880 = 420 | A 460 0.48 420 [ M/h

B 910 = 1,350 440 1.48 1,350 | F1/h [{KE 2 (1,000mET#k) DEFEEH
BT O/ —FNR— IR R A — B C D E F

RELZGHERMHY)
HEX5 RS EHR BB E LR s = BAf e
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KHHEE 240 - 280 40 1.17 280 | [/h 1B OEHICER
INFHEE 140 = 180 40 1.29 180 | A/h 1B O BHICER
BRXRTSY
REL% (REBNHY) [5%]
HEX5 RS EHR 2B E LR s = | W &ixs] | B=E0 e
‘eEm BT — 5L
KEE 360 - 280 A 80 0.78 280 | [/h
M= 230 = 180 A 50 0.78 180 | A/h
s 360 - 160 | A 200 0.44 160 | M/h
ZBME 230 - 180 A 50 0.78 180 | [/h
ZEME2 230 - 180 A 50 0.78 180 | M/h
1EE=E 360 - 180 | A 180 0.50 180 | [/h
ZBHIHR—IL 720 - 1,080 360 1.50 1,380 | F/h [BZHEF (FR1T x 1.5)
ZEHMYI SR 840 - 1,260 420 1.50 2,260 | F/h |MZE#HRF(FRIT X 1.5)
Bt 42—
RELZGHERMHY)
HEX5 RS EHR BB E LR s = Bif e
‘eEm BT — ’
EEFRERRE 510 - 280 | A 230 0.55 280 | A/h BB OEHICER
REBE 510 - 280 | A 230 0.55 280 | A/h [1BFEIBEOEHICESR
HEF A =R
RELZGHERMHY)
HEX5 RS EHR BB E LR s = Bif e
‘eEm BT — ’
EoE 710 - 280 | A 430 0.39 280 | [/h
REBE 200 - 100 | A 100 0.50 100 | M/h
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mEXER—IL

HEZ RELA ] REL# o
HEXH 9~ 128 13~ 178 18~ 228 9~ 178 13~ 228k 9~228F HERH 9~ 128 13~ 178 18~ 228 9~ 178 13~228% 9~ 228k
KR—IL ABEL TH 28,000 52,960 64,770 83,410 120,280 139,020 (AL TH 31,920 60,370 73,830 95,080 137,110 158,480
T AKkE 32,280 61,410 76,490 96,450 140,650 152,980 +AtkE 36,790 70,000 87,190 109,950 160,340 174,390
ABEHY TH 34,730 56,420 73,020 90,750 127,410 152,770 |AiS#dY FH 39,590 64,310 83,240 103,450 145,240 174,150
(~1,000M) +EH%E 44,000 67,520 90,440 113,360 158,170 194,230 |(~1,000F3) +AtkE 50,160 76,970 103,100 129,230 180,310 221,420
ABEHY TH 53,470 88,810 119,060 140,860 203,700 242,710 | AiB¥HY FH 60,950 101,240 135,720 160,580 232,210 276,680
(1,000~3,000/) |tEH*HE 68,950 109,180 150,020 180,270 257,880 312,370 |(1,000~3,000M) |+BH#E 78,600 124,460 171,020 205,500 293,980 356,100
ABEHY TH 76,490 128,630 171,510 201,970 292,920 349,550 | Aig¥ Y FH 87,190 146,630 195,520 230,240 333,920 398,480
(3,000 ~) +EH%E 100,120 158,370 217,450 259,920 372,770 447,740 |(3,000/ ~) +AtkE 114,130 180,540 247,890 296,300 424,950 510,420
ARURR—IL |Un—HL B 7,840 12,830 15,270 21,180 28,410 34,520 |J/N—4)L TH 7,990 13,080 15,570 21,600 28,970 35,210
T AKkE 8,650 14,560 17,410 23,830 32,490 37,270 +AtkE 8,820 14,850 17,750 24,300 33,130 38,010
ABHEL TH 8,250 13,850 16,190 22,610 30,650 36,360 | AL TH 8,410 14,120 16,510 23,060 31,260 37,080
(F#=(£~1,000/) |tBH*A 9,160 15,580 18,530 25,250 34,730 41,350 |(Ff=I1£~1000M) |+BHKE 9,340 15,890 18,900 25,750 35,420 42,170
ABEHY TH 10,280 17,920 21,790 28,510 40,120 47,050 |A3BHHY FH 10,480 18,270 22,220 29,080 40,920 47,990
(1,000 ~) +EH%E 11,500 20,770 25,460 32,690 46,540 54,380 |(1,000/ ~) +AtkE 11,730 21,180 25,960 33,340 47,470 55,460
BE=1 4,790 4,790 4,790 9,590 9,590 14,390 4,660 6,220 6,220 10,880 12,440 17,100
mE=2 3,660 3,660 3,660 7,330 7,330 11,000 3,060 4,090 4,090 7,150 8,180 11,240
BE=3 1,040 1,040 1,040 2,090 2,090 3,130 1,170 1,560 1,560 2,730 3,120 4,290 lgiif’;’é”%@fﬁ%?%?
#E1:5-6 1,580 1,580 1,580 3,180 3,180 4770 1,530 2,050 2,050 3,580 4,100 5,630 é"z,'\",“;jjryqﬁ&;b() BRI
HE7 1,050 1,050 1,050 2,110 2,110 3,170 900 1,200 1,200 2,100 2,400 3,300
#E2:3:4-8 510 510 510 1,040 1,040 1,560 430 580 580 1,010 1,160 1,590
£34%E1-2:3 1,580 1,580 1,580 3,180 3,180 4770 350 F/h
M=E1-2 850 850 850 1,700 1,700 2,540 170 A/h IS OREI-EE
mRISY

RIELAT REL#®

HES HEXH 13~ 178 18~ 228 9~ 178 13~228F HEXH 13~ 178 18~ 220 il
R—IL AEHEL TR 12,620 24,030 29,430 37,680 54,790 62,940 | AL FH 13,120 24,990 30,600 39,180 56,980 65,450
tH&%KA 14,560 28,110 35,030 43,690 64,060 69,460 R =[7N=! 15,140 29,230 36,430 45,430 66,620 72,230
AsHHY FH 13,540 26,580 31,980 41,350 59,580 67,520 (AiE¥HY FH 14,080 27,640 33,250 43,000 61,960 70,220
(~1,000M) tH&%KA 15,580 30,550 37,480 47,250 69,150 78,830 [(~1,000M) R =[7N=! 16,200 31,770 38,970 49,140 71,910 81,980
AsHHY FH 18,020 36,050 44910 55,100 81,880 92,270 (AiEHHY FH 18,740 37,490 46,700 57,300 85,150 95,960
(1,000~3,000M) |tH#*A 21,080 42,370 53,260 64,670 96,960 109,280 |(1,000~3,000F) |tB#*E 21,920 44,060 55,390 67,250 100,830 113,650
AsHHY TR 24,340 49,290 61,310 74,860 111,930 126,190 |A&HHHY FH 25,310 51,260 63,760 77,850 116,400 131,230
(3,000 ~) tH&%KA 29,020 58,250 73,230 88,300 132,710 148,290 (3,000 ~) R =[7N=! 30,180 60,580 76,150 91,830 138,010 154,220
FrI— AL EIE~1,000H 8,860 13,030 16,800 22,500 30,450 39,720 |Aim# AL FEF=IE~1,000M 11,690 17,190 22,170 29,700 40,190 52,430
AH#éHY (1,000 ~) 16,190 24,030 31,370 40,840 56,010 72,720 (Aim¥&HY (1,000 ~) 21,370 31,710 41,400 53,900 73,930 95,990
HEE 3,880 3,970 3,970 7,950 8,060 12,040 2,970 3,970 3,970 6,940 7,940 10,910
wEE2 1,040 1,150 1,150 2,300 2,300 3,550 1,250 1,670 1,670 2,920 3,340 4590 |\ pepns i mEE A bES
RER 2,200 2,300 2,300 4,610 4,710 7,020 1,980 2,640 2,640 4,620 5,280 7,260 |GEf{ERADIEZE L. (REERERHIE
PEER 1,260 1,350 1,350 2,710 2,710 4,080 900 1,210 1,210 2,110 2,420 3,320 SHAENTLELELY)
INEERT-2 830 830 830 1,770 1,770 2,620 490 660 660 1,150 1,320 1,810
REE 2,710 3,550 4,180 6,600 8,160 11,210 970 FA/h
[EE 930 1,350 1,560 2,410 3,040 4,080 420 A/h
INREBET-2 630 930 1,150 1,680 2,090 2,830 260 M/h IEEHEYDEHICER
FEE 1,040 1,460 1,680 2,620 3,240 4,400 470 A/h
m=E 830 1,040 1,260 1,980 2,510 3,460 400 A/h
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RIELAT

REL#®

HES HEXH 9~ 128 13~ 178 18~ 228k 9~ 178 13~ 228 9~228F HERH 9~ 128 13~ 178 18~ 228 9~ 178k %

Kk—IL AsHgL FH 12,120 23,220 28,310 36,460 52,750 60,800 |AtGHiL Soys| 14,460 27,550 33,740 43,200 62,820 72,160
Rk N= 14,050 26,990 33,610 42,160 61,620 66,910 THR%*A 16,690 32,230 40,160 50,090 73,450 79,640
AEHBY A 13,950 25,250 31,160 39,720 56,830 65,690 |AiZFiHY Soys| 15,520 30,470 36,660 47,410 68,310 77,420

(~1,900Fq) Rk = 16,600 29,430 37,480 47,050 67,620 79,240 (~1,900H) THR%*A 17,860 35,030 42,960 54,180 79,290 90,390 RS O S A TS
AEHBY A 19,650 36,250 46,540 56,220 82,800 95,330 |AiEFHY Soys| 20,660 41,330 51,490 63,180 93,880 105,800
(1,000~3,000M) (tB#%A 23,930 43,380 56,730 68,440 100,730 116,920 |(1,000~3,000M) |LHKH 24,160 48,580 61,070 74,150 111,170 125,310
AEHBY FH 27,190 50,720 64,980 78,120 115,290 133,220 |AEHHY Soys| 27,900 56,520 70,300 85,840 128,340 144,690
(3,000 ~) Rk N= 33,810 61,000 79,750 95,740 140,960 162,550 |(3,000F3 ~) THR#*A 33,270 66,790 83,960 101,250 152,170 170,040

FrI)— )\i%*:ml,itl;tﬂ,oom 1,010 1,520 2,030 2,750 3,660 4,880 )u%*%t;l,if:liw,ooom 5,210 7,660 9,880 13,230 17,910 23,360 RS O S A TS
A5#&HY (1,000 ~) 1,930 2,950 3,870 4,990 6,920 8,960 |AF#dHY (1,000M ~) 9,520 14,130 18,450 24,020 32,940 42,780

£E1-2-3 630 640 640 1,300 1,300 1,940 360 480 480 850 970 1,340 [T RISV OFHESEEER S

ARXERE [FIAMEHE]

R=% HER2 i He X% ST TR 2 %
Kik—)L AL ABHEL TH 17,050 32,480 39,780 50,930 74,070 85,080
18,840 33,500 33,500 52,350 67,010 77,500
+BH%A 19,680 37,990 47,350 59,050 86,600 93,890
ABEHY ABHHY TH 18,300 35,930 43,220 55,900 80,540 91,280
24,130 41,860 41,860 66,000 83,720 97,370
(~1,000/) (~1,000M) +BH%A 21,060 41,300 50,660 63,880 93,480 106,570
ABEHY H 28,310 50,310 62,840 78,620 113,150 127,720 | AB#HY TH 24,360 48,730 60,710 74,490 110,690 124,740 |t R 755 O H ML ETEEL S
(1,000~2,000/) |+BE 34,620 60,800 75,370 95,430 136,170 154,000 |(1,000~3,000M) |+B*E 28,490 57,270 72,000 87,420 131,070 147,740 |(HER D E#HE—)
ABEHY H 33,500 58,660 73,330 92,170 132,000 149,720 -
(2,000~3,000M) |tBkE 39,720 71,190 88,000 110,910 159,190 179,150 -
ABEHY H 37,680 67,010 83,720 104,700 150,740 169,680 |AB¥dHY TH 32,900 66,630 82,880 101,200 151,320 170,590
(3,000 ~) +HBHKB 46,130 80,660 100,620 126,800 181,290 205,330 {(3,000/~) +BH%A 39,230 78,750 98,990 119,370 179,410 200,480
A= ABHIL 2.830 5,030 5,030 7.860 10,060 11,630 AL EF=1Z~1,000M 4,240 7,540 7,540 11,790 15,090 17,440
ABH#HY (~1,000M) 4,500 7,950 7,950 12,460 15,910 18,440 HRISHOFHSETEILS
=N oyl VAN —
ABHBY *8 5,860 9,950 12,530 15,610 22,420 25,350 AS##HY (1,000 ~) 9,830 14,580 19,040 24,790 34,000 44,150 g#%%ﬁ?&r):l;w,ooom
(1,000~2,000/) |+BkE 6,700 11,930 14,880 18,640 26,820 30,160 DRSO B EF (BT x
ABEHY H 7,230 12,680 15,910 19,900 28,600 32,260 - 1.5)
(2,000 ~) +HBHKB 8,580 15,290 19,060 23,880 34,350 38,660 -
21 1,260 1,680 1,680 2,940 3,360 4,620 1,170 1,570 1,570 2,740 3,140 4,320
#E2-3 410 630 630 1,040 1,260 1,680 300 400 400 700 800 1,100 TR IS H0HHELEEES
R4 410 630 630 1,040 1,260 1,680 590 780 780 1,370 1,570 2,160
BHMEE1-2-3 630 730 730 1,360 1,460 2,090 270 FA/h
F= 830 1,150 1,150 1,980 2,300 3,130 420 M/n 1M HYDEHICES
SBE 730 930 930 1,670 1,870 2,600 420 A/h
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[RELORAH]

@O ZHEEHPEIE50%

Q@ AREESH (KEBEE.HEETE)DEABEMZRA — REOEETETIT

@ 1BHEMLTOEHICESR

@ AEEFERHTIERERHIZED
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BEEREE 52— A B C D E F
REL%Z RERMHY)

FHERS RELAT .‘ﬁ%n(‘a;;%%ﬂf’aﬁ ﬁ;@ﬁ;ﬁéﬂﬁaﬁ %%%E}“é‘;%f% BAf "E
HHEE 440 = 280 | A 160| 064 280 | A/h |1EEBEMOEHICER
HEEE 340 - 280 | A 60| 082 280 | M/h [1BEREBELOBHICER
FHEEEE 340 = 160 | A 180| 047 160 | M/h (EFEEMOEHICER
= 340 - 280 | A 60 082 280 | M/h 1B OBHICER
AEEEANY EAHOE| - 0 0| A/

X REigE o 2— [FAEEH] A B C D E F
REL%Z RERMHY)

HEXH .‘ﬁ%n(‘a;;%%ﬂf’aﬁ ﬁ;@ﬁ;ﬁéﬂﬁaﬁ %%%E}“é‘é%f% Bifs "E
= 310 = 280 | A 30 090 280 | A/h |1EEBEMOEHICER
REEEE 310 - 160 | A 150 0.52 160 | M/h [ESREEMOEHICESR
FEREE 210 = 180 | A 30| 086 180 | A/h (EFREIEMOEHICER
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